=LPDB
3RPLHV]F]HQLH 5RINiDG

7\J

7\6]

,QDXJIXUDFID

7\6]

7\6]

7\6]

z
T
& 7N
[a) 3UTHGP GR Z\ERUX 2FKIRQD VRFI L - 3UTHGP GR
= SUDZQD Z\EU NDI NLHQIyZ SRP VS SIRI 2Dl ’ XGHOIZ = Y o ’ &kyl iz - Z\ERUX 2FKURQD VRFIL
© ARHD BYID0D s 7 ﬁﬁﬁﬁﬂwmunqmwwmwwmemwwmmmmWMMMRXMWWK 87- SUDZQD Z\EU NDI NLHQIYZ
o & BOZHWAHI SRP VS SIRI &KHUQHID
@ 7N 7UJHFIHIR ?YWDED : 36
3UDFD G\GDNI Z\FKRZ Z SUJHGV] L Z = LHNX
N, ., UZ GU =DUJRFKD $QQD =
30 (3:&
- NJRGQIX  JDICFD  PIQ
7\6]
,QDXJXUDFID
7N 7N
=IDJQRVIAND VSRIHF]QD GZ Gl 3UTHGP GR Z\ERUX 2FKIRQD VRFI L SUDZQD Z\EU NDI NLHQlyZ
3IHUTFKDID $QQD = E SRP VS SIRI &KHUQHID GYUIDQD = 36/
335/ &
ZINJ VDD :
7\G]
-C]\NDQJ GZ % PJU*RHF JDEHID -
HJIDPIQ\ (HNIRUDI VQIR
- 7\6]
T -
~ <
x SH]HUZDFID %21 = JIHE 2§ZDUN\
N
7\6]
SXG\IRUXP
PD[IPXP ODV
HN ODNRZVNL
ELXIR
SIRPRFL =
60D
1DUH]HIZRZDQD
GID -O SHNIRU
7\6]
(JIDPLQ GU . RTHWND $IQIHVIND
- 30 z
(*=$0,1 5
7N 7N 7N
3HGDJRJIND RIYIQD iZ 3HGDJRJIND SUTHGVINRIQD GZ GU 3HGDJRJIND SUTHGVINRIQD GZ GU
a 3RGVIDZ\ SHGDJRJIN. = DUJRFKD $QQD - = DUJRFKD $QQD - -
&) Z GU zURQD OHI\N & 33: " &
g 1DEHD = 33: ‘
= AOEHD 2 es - 07 SN IDEAD PR ZNJ IDEAD PR
&
©I\J JDEAD P




=LPDB

3RPLHV]F]HQLH 5RINiDG - 7\J

7N\J

3HGDJRJIND RIYIQD (iZ

7N\J

3RGVIDZ\ SVAFKRIRJLL GID QDXF]\FLHIL
UZ 3V\FKRIRJID RIYIQD GZ GU

3RGVIDZ\ SHGDJIRJINL ODUJDVLEVNL $QGUIHI = 33:
a Z GU zURQD OHUN - & 363" &
Q JDEHD = 33: U GIRGD JDICFID IDN ZH
= & ZIRUHN = \NiDG\ Z IRUPLH JGDIQHI
T ZINJ IDCFD P *XSD ]DICU NV]IDiFHQLD PRGXiRZHIR
o]
7\G]
-CI\NDQJ GZ % PJU*RHF ,JDEHD =
HJIDPIQ\ HNIRUDI  VQIR
7\6] 7\
z 87:- =
6SRINDQLD RUIDQLIDF\IQH JH VIXGHQIDPL SIHUZVINFK (D = XJJRGQIHQX ] = \G]LDiHP 1DXN R =GURZIX 8QLZHWNIHI 7UJHFLHIR = LHNX
7\G]
z -CI\NDQJ GZ % PJU*RHF ,JDEHD =
= HJIDPIQ\ HNIRUDI  VQIR
=
N 7N
™
L
3URIHNIRZDQIH
XQLZHWDIQH PRGXé
GU = URQD OHU\N ,JDEHID
- 30 /
= INJRGQIX  ]DICFID
PIQ
7\6] 7\6] 7\6]
H 3UJHGP GR Z\ERUX 2FKURQD VRFI L 3UJHGP GR Z\ERUX 2FKURQD VRFI L SUDDZQD
- SUDZQD Z\EU NDI NLHQIyZ SRP VS SURI Z\EU NDI NIHQIyZ SRP VS SURI &KHUQHID 6YLIIDQD
= \ERU\ VDPRU]3GX VIXGHQFNIHIR ZKHIOHD 6YNDQD = 26/ . 26 &
7\G] &
- 7\G]
= JHE 21ZDUN %21 -
z el 6SRINDQLD RUJDQL]DF\IQH
S . TH VIXGHQIDPL
= ZVICS GR SHGDJRJIINL 2 GU SIHUZV]\FK 0Dl
2 KDE 3URI 8- $GDPVND 6IDURE QIHVIDFIRQDUQH
ORQIND =
(J10PWQ
7\
3UJHGP GR Z\ERUX 2FKURQD VRFI L
SUDZQD Z\EU NDIl NLHQIyZ SRP VS SURI
&KHUQHID 6YLIDQD = 36/
&
a 7N 7N 7\G] 7N
o =DU]aG]DQIH RGZIDIg GZ GU = XGD - XOIXUD IC]\ND Z UHIDFIDFK OHIRGRIRJLD EDGDE SHGDJIRJIFJQ\FK 3HGDJIRJIND RIYIQD 4Z  GU KDE 3URI
w ZIRHID = @3: & LQIHUSHURQDIQ\FK (iZ GU 6NRFT\IDV Z GU .RIHWND $IQHVIND = 8- $GDPVND GIDURE ORQIND =
g -URID (G\ID = 36 (3: 36 & 36 &

&




=LPDB

3RPLHV]F]HQLH 5RINiDG - 7\J

QLHG]LHOD

7N\J

=DU]aG]DQIH RGZLDlig

7\6]

= VICS GR SHGDJRJIINL Z  GU B
KDE 3URI 8-" $GDPVND 6IDIRE

iZ GU"XGD zIRHID = ORQIND =
N 36 @G: QI0PQ
7\6]
-CI\NDQJ Z % PJU*RIHF JDEHD -
(*=$0,1 35%$-2 =516 -12=:§3,7 -
$1>*

7N\

7HRUHINF]QH SRGVIDZ\ Z\FKRZDQLD
UZ SURIQDG]Z =IHIEVNL 3DZH:i =

35 &

7\G]
3HGDJRJIND VSHFIDIQD iZ Gl
%DQDVIDN $QQD = 35
32=5&

7\G]
3HGDJRJIND UHVRFIDLIDFNIQD ¢Z  GU
=DICFND %HDID = 35

32=5&

7N
,QQRZDFIH L ZVSy:FHVQH NIHUIXQN.
SHGDJRJIFJQH iZ ~ SURI QDG]Z =IHIEV
N.3DZHi = 36 &

7N
,QQRZDFIH L ZVSy:FTHVQH NIHUIXQN.
SHGDJRJIFIQH Z ~ SURI QDG]Z =IHIEV
N.3DZHi = 36 &

7N\

3HGDJRJIND UHVRFIDL]IDFNIQD 2 GU
=DICFND %HDID = 35
32=5&




